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QUESTION 1

Which statement about INSERT operations is true? 

A. The INSERT statement is used to insert rows into a table, view, or table function. 

B. Inserted values must satisfy the conditions of any check constraints defined on the table. 

C. If an INSERT statement omits any column from the inserted row that is defined as NULL or NOT NULL WITH
DEFAULT, the statement will fail. 

D. If the underlying table of a view being referenced by an INSERT statement has one or more unique indexes, each
row inserted does not have to conform to the constraints imposed by those indexes. 

Correct Answer: B 

 

QUESTION 2

Which statement about UPDATE processing is FALSE? 

A. The UPDATE statement logs the before and after value of every column it modifies. 

B. A searched UPDATE is used to update one or more rows and a positioned UPDATE is used to update exactly one
row. 

C. When the UPDATE statement modifies parent key columns, the value of corresponding foreign key columns are also
modified. 

D. The UPDATE statement modifies the values of specified columns in the rows of a table, view, or underlying table(s)
of a specified fullselect. 

Correct Answer: C 

 

QUESTION 3

Which event will NOT cause a trigger to be fired? 

A. Execution of an INSERT statement. 

B. Execution of LOAD REPLACE operation. 

C. Execution of an INSERT operation of a MERGE statement. 

D. Execution of an UPDATE operation of a MERGE statement. 

Correct Answer: B 

 

QUESTION 4
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Which DB2 product is NOT suitable for very large data warehouse applications? 

A. DB2 for i 

B. DB2 for AIX 

C. DB2 for z/OS 

D. DB2 for Linux 

Correct Answer: A 

 

QUESTION 5

Which product is used to customize execution environments for the purpose of controlling system resources so that one
department or service class does not overwhelm the system? 

A. pureScale 

B. Workload manager 

C. Data partitioning feature 

D. Self-tuning memory manager 

Correct Answer: B 
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